

$$\frac{r}{1-r \cos^2 \alpha} = r \rightarrow \cos^2 \alpha = \frac{1}{r} \text{ محاسبه این } - 1$$

$$r \sin^2 \alpha + r \cos^2 \alpha = \frac{1}{\cos^2 \alpha} \rightarrow \tan^2 \alpha = \boxed{\Delta}$$

$$\frac{r \sin^2 \alpha + r \cos^2 \alpha}{\sin^2 \alpha - \cos^2 \alpha} = \frac{1}{1 - \cos^2 \alpha} \Rightarrow \frac{r (\sin^2 \alpha + \cos^2 \alpha)}{\sin^2 \alpha - \cos^2 \alpha} = r \Rightarrow \sin^2 \alpha - \cos^2 \alpha = \frac{r}{r} = 1$$

اینم باید تقسیم کنی! غلطه! ملا

$$\frac{\sin^2 \alpha}{\cos^2 \alpha} - \frac{\cos^2 \alpha}{\cos^2 \alpha} = \frac{r}{r} \Rightarrow \tan^2 \alpha = \frac{r}{r} + 1 \Rightarrow \tan^2 \alpha = 2$$

$$\sin^2 \alpha - r \cos^2 \alpha = r \sin^2 \alpha + 1 \cos^2 \alpha \Rightarrow \tan^2 \alpha - r + \frac{1}{\cos^2 \alpha} = r \tan^2 \alpha + 1 - \frac{r}{\cos^2 \alpha}$$

$$\tan^2 \alpha - r + 1 + \tan^2 \alpha = r \tan^2 \alpha + 1 - r - \frac{r}{\cos^2 \alpha} \Rightarrow 2 \tan^2 \alpha = 2$$

$$\tan^2 \alpha = \frac{2}{r} \checkmark$$

$$\cos^2 \alpha / 2 = \frac{1 + \frac{\sqrt{r}}{r}}{r} = \frac{r + \sqrt{r}}{r} \Rightarrow \cos^2 \alpha / 2 = \frac{\sqrt{r+1} + \sqrt{r}}{r} \checkmark$$

$$\sin^2 \alpha / 2 = \frac{1 - \cos^2 \alpha / 2}{r} = \frac{r - \sqrt{r+1} - \sqrt{r}}{r} \Rightarrow \sin^2 \alpha / 2 = \frac{\sqrt{r+1} - \sqrt{r}}{r} \checkmark$$